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Prédice

Circles

Write an equation for the circle that satisfies each set of conditions.

1. center (—4, 2), radius 8 units 2. center (0, 0), radius 4 units
2 2 PN
(XMB +(y-2)*= G4 Xy =10
3. center (— %, —\/5), radius 5V'2 units 4. center (2.5, 4.2), radius 0.9 units

Ge+3Y 4 (y+3)2= 50 (x=2.9)%+ (Y- 4:2)*=, 9|

6. endpoints of a2 diameter at (-2, —9) and (0, —5) I:I:\Sl (X~\’ q)2+ (\{ {'\ 95?-"" 7 L{
o aend -
O{F—" aﬁ 6. center at (—9, —12), passes through (-4, —5) (X-H*)Z Al C\l "F?\ =

‘Gale winds can affect an area up to 300 miles from the storm’s center. A satellite photo
of a hurricane’s landfall showed the center of its eye on one coordinate system could be
/approx1mated by the point (80, 26).

; 14y WEATHER On average, the circular eye of a hurricane is about 15 miles in diameter.

7. center at (-6, b), t&l-_lge;%to x-axis Lx +(o)'2+ (\{_ g 32‘: 95 ' @ (x-zq'?_xﬂ)-\—(‘{z%ﬂq:
Find the center and radius of each circle. Then graph the circle. = A+
B.(x+3P+y*=16 9.3x% + 3y =12 10. x% + y* + 2x + 6y = 26 (XH)?'%-(V#?’)?'SBG
XZHy =Y
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(-2 +(y+2)>= 16 (x-3y2Hy2 = 4 (2 +{(N+3) =9 1
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77 a,Write an equation to represent a possible boundary of the hurricane’s eye.-
(%-30)2 % (Y-26)*= 56.35

b. Write an equation to represent a possible boundary of the area affected by gale winds.
pA 2
(x-%0)* ¥ (y-26)% = 70000
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